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|. Please -Hry to odtend lectures,

o . Homeworle 16 1S graded and Ccan be

found (0 the .Foldcr Calc2 _ Your Lagttame .
Please let me know i you submited homework
or quiT, but (Tt IS missihy from Hat plder.

1 Exam 2 Wwill be on Thursdaéf during class .

g There will be & quiz %dag ot 1:35 p.m.

¢ Hwk ['ﬁ will be due Tuesday and there will be
g guiz on this hwk also on Tuejdaéf,



QRueshons about hwk 8.
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Sec. 9.3 Chandout) and S-3 ( book)
Im{e&al Test and F-—Series (comﬁ'mueo()

Recall
The indegral test . I f 1S contiurous , positive,

and  decreasing  funchon Where an = 4(h)
on the [M—(";QVVM (1,4 0), thew the improper

l'hkgm\ j Lo)dx and the infinitt Series
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(see textbook or class notes for Sec. 3.7
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n~\\(—5 diverges bﬁ the divergence
fest | since  lim \n #0.
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